
Practice Problems , No. 1 
 

1. Use the sandwich Theorem to find the limit of the following sequence ).( nx  
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2. Use problem 3 of the previous assignment to find the limit of the sequence ),( nx  
where )( nx  is 
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3. Determine the convergence and divergence of the sequence ),( nx  where )( nx   is 
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4. Show that the following sequence  )( nx  is bounded and monotone. Find the 

limit. 
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5. Use Problem 6 of the previous assignment to show that the following sequence 

)( nx  statisfies Cauchy criterion and find the limit. 
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